DAILY BASIS ASSIGNMENT
DAY: THURSDAY CLASS: V DATE:30.04.2020

SUBJECT: ENGLISH

l. Choose the correct answer that identifies the proper noun in the given sentences.
1. People from all over the world come to see the Taj Mahal.
a. People
b. World
c. Come
d. Taj Mahal
2. Mount Everest is the highest mountain peak.
a. Mount Everest
b. Highest
C. Mountain
d. Peak
3. Rahul bought a bicycle for his brother.
a. Brother
b. Bicycle
c. Bought
d. Rahul
4. India is the seventh largest country in the world.
a. India
b. Seventh
c. Country
d. World
5. The famous ship, Titanic sank on its first journey.
a. Ship
b. Titanic
c. First
d. Journey

SUBJECT: EVS

I. CHOOSE THE CORRECT ANSWER
1. From which part of the plant bryophyllum grows?

a) roots b) stems c) leaves d) seed



2. From which part of the plant sweet potato grows?

a) roots b) stem c) leaves d) seed

3. Which of the following plant can grow by the process of stem cutting?
a) tulsi b) rose c) lotus d) begonia

4. Vegetative propagation is another term for

a) vegetative reproduction  b) germination c) dispersal  d) vegetation
5. Plants reproduce from

a) seed b) leaf c) stem d) all of them

SUBJECT: MATHS

l. Choose the correct answer:
1. The sum of 12386941 and 743849 is

a) 13130790  b) 13130791 c) 13130792 d) 13130792
2. The sum of 899468 and 723682 is

a) 1623149 b) 1623150 c) 1623151 d) 1623152

3. The sum of 9473842 and 770712 is

a) 10244555 b) 10244556 c) 10244554  d) 10244558
4. The sum of 89685126 and 9685126

a) 99370252  b) 99370253 ) 99370254  d) 99730252
5. The sum of 21831236, 18748941 and 8962374 is

a) 45942551  b) 49542515 C) 495425146 d) 49542551

SUBJECT: COMPUTER

l. Choose the best options from those given below:
i) Computers are used in
(a) Public services  (b) Defense (c) Art (d) Both (a) and (b)

i) never make mistakes even if asked to process billions of data
(a) Calculator (b) Computer (c) Both (a) and (d) (d) Printer



iii) can be sorted, separated, compared, arithmetically operated upon, etc.
(@) Information (b) Program (c) Data (d) Software

Iv) Result of processing is known as
(a) Output (b)Hardware (c) Liveware (d) Firmware

v) The desired output that the computer gives out, which is useful to us in some way is
called
(a) Information (b) Firmware (c) Component (d) Both (b) and (c)
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